AMENDED COOPERATIVE AGREEMENT SIGNATURE PAGE

AGREEMENT	MIMBED	15_0544_9	: =
AGREEMENT	NUMBER	10-0044-0) T

				AMENDMENT NOMBI	ER I
1.	This Agreement is entered into between	the State	Agency and t	he Recipient named b	pelow:
	STATE AGENCY'S NAME DEPARTMENT OF FOOD AND AG	RICULTU	RE (CDFA)		
	RECIPIENT'S NAME COUNTY OF SAN BENITO				
2.	The term of this Agreement is:	Octo	ober 1, 2015	through December 3°	1, 2016
3.	The maximum amount of this Agreemen	nt is: \$19	3,121.00		
4.	The parties agree to comply with the ter part of the Agreement:	ms and cor	nditions of th	e following exhibits wh	nich are by this reference made a
exp nev inco her for pop PI Fe	ragraph two (2) of this Agreement is herekthiration date of December 31, 2016. Para vitotal not to exceed \$193,121.00. A sect proporated into this Agreement effective Justine Edward of the County to place and service additional pulations of newly detected Asian Citrus PRIME AWARD INFORMATION: deral Funding Source(s): talog of Federal Domestic Assistance Number(s):	graph three tion of the S ine 1, 2016. he time exte al traps thro	(3) of this A cope of Wor A Budget f nsion, increa ughout the a t.	greement is hereby an k is hereby amended, or the additional amou ase in funds, and ame	mended to add \$93,623.00 for a is attached (6 Pages), and is until is attached (4 Pages), and is nded Scope of Work are required
	nount(s) Awarded to CDFA: deral Funding Source Agreement Number(s):	16-8506-121 10/1/15 - 9/3	1-CA	16-8506-0934-GR	_
Cons All o Nam	inizations will be subject to 48 CFR Subpart 31.2. sistently applying cost principles and ensuring control ther terms and conditions of this Agreement shall reflect of Project: Asian Citrus Psyllid VITNESS WHEREOF, this Agreement has be	actors or consemain the sam	ultants comply v e.	with applicable Cost Princip	gulations appropriate to their organization, le requirements.
	CIPIENT'S NAME (Organization's Name) UNTY OF SAN BENITO				
BY ('Authorized Signature)		DATE SIGNE	D (Do not type)	
Ø					
PRII	NTED NAME AND TITLE OF PERSON SIGNING				
	PRESS D. Box 699, Hollister, CA 95024-0699				
,,		STATE	OF CALIFO	RNIA	
	NCY NAME PARTMENT OF FOOD AND AGRIC	ULTURE (CDFA)		
BY (Authorized Signature)		DATE SIGNE	D (Do not type)	
	NTED NAME AND TITLE OF PERSON SIGNING YSTAL MYERS, BRANCH CHIEF, OFFIC	CE OF GRA	NTS ADMIN	NISTRATION	
122	DRESS 0 N STREET, ROOM 120 DRAMENTO, CA 95814				MA

Asian Citrus Psyllid (ACP) Detection and Delimitation Trapping Guidelines (San Benito County – Amendment)

Trapping Season

• This amendment for delimitation trapping is effective June 1, 2016 through December 31, 2016.

Trapping Locations

- Conduct detection trapping in all urban, rural residential, and commercial citrus settings (see Insect Trapping Guide [ITG] for definitions, available at www.cdfa.ca.gov/go/ITG).
- Conduct delimitation trapping in all delimitation areas in Hollister.
- If there are areas deemed to be at high-risk of introductions (packing houses, swap meets, farmers markets, etc.) additional traps may be placed. Confer with the District Entomologist prior to placement of these traps for approval.

Trap Density

- Place traps in urban, rural residential, and commercial citrus settings.
 Traps shall be:
 - Stand-alone (not piggybacked).
 - For Detection trapping Place 5 traps per square mile in host trees only, up to the maximum number of traps in the previous agreement.
 - For Delimitation trapping Service and maintain the traps placed in all delimitation areas of Hollister. Keep traps placed in host trees only.

Inspection Frequency

- Detection Survey inspect traps monthly.
- Delimitation Survey (currently in place) inspect traps monthly.

Trap

The trap consists of two parts: a yellow panel trap and a trap hanger.

Attractant

 The yellow color is a visual attractant. The trap does not contain a pheromone or an insecticide.

Hosts

 Only citrus (lemon and limes are preferred) and citrus relatives. Citrus relatives include kumquat, curry leaf, *Murraya* spp. and orange jasmine/jessamine. *Do not place traps in non-host trees*.

Trap Numbering & Assembly

- Trap number -- Prior to assembling and placing the trap, write the unique trap number and date of deployment on the interior (non-sticky sides) of the trap body.
 - Using the alpha-numeric STG, list the alpha-numeric grid, hyphen, quint (aka subgrid), hyphen, trap type and number. For example: JT316-W-ACP1 or JT316-5-ACP1.
- Assemble the trap by pulling it open, exposing the yellow, sticky surface.
 Paperclip the white tabs on the side to hold the trap in position. Place a
 Jackson trap hanger through the holes in the top end of the trap (see ITG,
 page ACP-2).

Trap Placement

- Follow the parameters for ACP listed in the Insect Trapping Guide under Sections: Trap Types www.cdfa.ca.gov/go/ITG.
- All sites trapped must be GPS'd using Datum NAD83 in decimal degrees to 6 decimal points (e.g., 34.423301, -119.825056). If there are more than 6 digits, truncate (cut off) the additional digits; DO NOT round up or down. Record the unique trap number with the corresponding GPS reading. New GPS points must be recorded for urban ACP traps when they are relocated. The GPS coordinates must be written on the trap data card.

Baiting Interval

Not applicable.

Trap Relocation

- Relocations should provide for moving the trap evenly throughout its assigned area, with a minimum relocation distance of 500 feet.
- When relocating, always use a new trap. Submit all removed traps to a
 qualified screener or the CDFA screening facility for your district. GPS the
 new site and document the new GPS coordinates on the trap card.
 - Detection Survey Relocate traps every eight weeks, if possible, adhering to a minimum relocation distance of 500 feet, per the ITG.
 - Delimitation Trapping No relocation is required.

Trap Replacement

- Replace detection traps monthly or with each relocation (as with Jackson trap inserts).
- Replace delimitation traps at each servicing.
- Change the trap with each relocation, every time a suspect is captured, or when the trap becomes dirty or cluttered with insects or other debris (i.e., as necessary).

Screening of Traps

- IMPORTANT: All traps removed from the field must be screened before being discarded.
 - CDFA maintains a screening center in Los Alamitos for this purpose (address is below). Shipment costs for sending traps will be reimbursed by CDFA.
 - Boxes sent to Los Alamitos must have the county written on the outside of the box, so as to allow the screening center to prioritize particular counties (if directed to do so) and to assure that suspect psyllids are correctly associated with the relevant county if additional trap data is required to complete the PDR.

Los Alamitos address and contact information:

Medfly Preventative Release Facility 3802 Constitution Avenue Los Alamitos, CA 90720-5100 Attention: Manuel Villarreal

Phone: 562-795-1206

 Counties may instead elect to have a qualified staff member perform the screening, with pre-approval from the District Entomologist.

Submitting Specimens for Identification

- If an ACP specimen is observed when servicing the trap, the entire trap
 containing the suspect insect(s) should be collected and returned to the
 office for supervisory inspection. Before leaving the site, replace the old
 trap with a new one.
- Immediately contact the District Entomologist, as per the ITG.
- Submit the entire trap, leaving the suspect ACP on the trap, for identification to the Plant Pest Diagnostics Laboratory in Sacramento as efficiently and quickly as possible. If the suspect insect is alive on the trap, place the trap in the freezer for at least one hour to kill the specimen. Do not transport live specimens!
- All suspect specimens should be submitted along with Form 65-020, the electronic version of the Pest and Damage Record (e-PDR). The website for the e-PDR is http://phpps.cdfa.ca.gov. Persons submitting this form will need a username and a password.
- Notify your District Entomologist when suspect specimens are sent. Include the e-PDR number in this communication.

State of California
Department of Food and Agriculture
Plant Health and Pest Prevention Services
Pest Detection/Emergency Projects

County:	SAN BENITO
Fiscal Year:	2015-16

TRAPPING HOURS/YEAR WORKSHEET

ACP TRAPPING

Green = fillable cells to be completed by the County.

Purple = subtotals and totals. These contain formulas - DO NOT MODIFY!

TRAPPING SEASON

Trap Type	Jan	Feb	Mar	Apr	May	Jun	Jul	Aug	Sep	Oct	Nov	Dec
ACP YP						2016			<u> </u>			
Finds 4 & 5		[<u> </u>	2016		 				
Γ						<u> </u>			1			
Γ					T	1			T			
		I			I	- 				r	~~~~	
		I			i	·	L		.L	· · · · · · · · · · · · · · · · · · ·		
					L	<u> </u>						
	····	<u> </u>			L		L		<u> </u>			
	an albay	weekly s	ervicings] biweekly s	ervicings			monthly	servicings	

Trap Type	# of traps	X	serv/year*	=	serv/year/trap
ACP YP	186	×	1.00		186
Finds 4 & 5	357	Х	4.33	=	1,546
0		Х		=	0
0		×	Construction and the construction of the const	=	0
0		х	5.440.00180.00180.001	=	0
0		×		=	0
Ö		х		=	0
0		х		=	0
0		х	0.0000000000000000000000000000000000000	==	0
				Total:	1,732

NOTE: serv/year*. Insert figure from Servicings per Year sheet, 66_223A.

TOTAL: 1,732 \div 3.00 = 577.33 \times 1.1 (10%) = 635.063 (A) (B) (C) (D)

- A = Servicings/year/trap calculated electronically.
- B = Average # of traps serviced per hour figure entered by person completing work sheet.
- C = Hours/year calculated electronically.
- D = Hours/year plus 10% calculated electronically. "D" represents the billable hours for the trapper(s) in the field and is applied to the work plan in the "Detection" section. In addition to the detection trapper hours, the financial plans also cover non-detection (supervisor, administrative, etc.) hours.

12/2/15

State of California
Department of Food and Agriculture
Plant Health and Pest Prevention Services
Pest Detection/Emergency Projects

County:	SAN BENITO
Fiscal Year:	2016-17

TRAPPING HOURS/YEAR WORKSHEET

ACP TRAPPING

and the completed by the County.

Purple = subtotals and totals. These contain formulas - DO NOT MODIFY!

TRAPPING SEASON

Тгар Туре	Jan	Feb	Mar	Apr	May	Jun	Jul	Aug	Sep	Oct	Nov	Dec
ACP YP			['. <u></u>				2016					
Finds 4 & 5						i	2016	T				
ACP YP								2016	2016	2016	2016	2016
					· · · · · · · · · · · · · · · · · · ·	[1					
			<u> </u>		r	·]					
_			l		[I			l	L	·····
		L				ļ	LL	L				
			<u> </u>									
	ting the sec	weekly s	ervicings			biweeki	servicings			monthly s	ervicings	

rap Type	# of traps	X	serv/year*	=	serv/year/trap
ACP YP	186	X	1.00	=	186
Finds 4 & 5	357	×	4.33	=	1,546
ACP YP	543	Х	5.00	=]	2,715
0		X		=	0
0		Х		=	0.
0		Х		=	0
0		х		=	0
0		Х			0
0		Х		=	0
				Total:	4,447

NOTE: serv/year*. Insert figure from Servicings per Year sheet, 66_223A.

TOTAL:
$$4,447$$
 \div 3.00 = $1,482.33$ $\times 1.1 (10%) = 1,630.563$ (A) (B) (C) (D)

- A = Servicings/year/trap calculated electronically.
- B = Average # of traps serviced per hour figure entered by person completing work sheet.
- C = Hours/year calculated electronically.
- D = Hours/year plus 10% calculated electronically. "D" represents the billable hours for the trapper(s) in the field and is applied to the work plan in the "Detection" section. In addition to the detection trapper hours, the financial plans also cover non-detection (supervisor, administrative, etc.) hours.

12/2/15

SAN BENITO COUNTY DEPARTMENT OF AGRICULTURE

FY 2015-16 Asian Citrus Psyllid (ACP) Detection Trapping Financial Plan

12/2/15

0.00

Subtotal:

\$0.00

\$1,153.00

\$0.00

Green = fillable cells to be completed by the County,
Purple = subtotals and totals. These contain formulas - DO NOT MODIFY! Orange = instructions.

PERSONNEL

10

A.	PERSONNEL				
	4 CTAPP Data			TOTAL	
	STAFF - Detection Trappers Employee Name	Title	HOURS/	WORK	HORBO
1	<u>Employee wane</u>	<u>Title</u>	DAY 8.00	DAYS 18.00	HOURS 144.00
2		Agricultural Technician	8.00	18.00	144.00
3		Agricultural Technician	8.00	18.00	144.00
4		Agricultural Biologist I	8.00	18.00	144.00
5		Agricultural Biologist II	5.00	7.00	35.00
6		Senior Agricultural Biologist	4.00	6.00	24.00
7			0.00	0.00	0.00
8			0.00	0.00	0.00
				Subtotal:	635.00
	2. SALARIES - Detection Trappers	3	HOURLY RATE		
			w/o BENEFITS	HOURS	SALARY
1		Agricultural Technician	\$17.61	144.00	\$2,536.00
2		Agricultural Technician	\$16.77	144.00	\$2,415.00
3		Agricultural Technician	\$16.77	144.00	\$2,415.00
4		Agricultural Biologist I	\$22.60	144.00	\$3,254.00
5		Agricultural Biologist II	\$26.13	35.00	\$915.00
6		Senior Agricultural Biologist	\$41.78	24.00	\$1,003.00
7			\$0.00	0.00	\$0.00
8			\$0.00	0.00	\$0.00
				Subtotal:	\$12,538.00
	3. BENEFITS - Detection Trappers	S	BENEFIT		BENEFIT
	• •		RATE (%)	SALARY	COST
1	•	Agricultural Technician	26.6000%	\$2,536.00	\$675.00
2		Agricultural Technician	26,6000%	\$2,415.00	\$642.00
3		Agricultural Technician	26.6000%	\$2,415.00	\$642.00
4		Agricultural Biologist I	74.6300%	\$3,254.00	\$2,428.00
5		Agricultural Biologist II	90.1100%	\$915.00	\$825.00
6		Senior Agricultural Biologist	55.9800%	\$1,003.00	\$561.00
7		, ,	0.0000%	\$0.00	\$0.00
8			0.0000%	\$0.00	\$0.00
	•			Subtotal:	\$5,773.00
			DETECTION STA	FF SUBTOTAL:	\$18,311.00
				TOTAL	
	4. STAFF - Non-Detection		HOURS/	WORK	
	Employee Name	<u>Title</u>	DAY	DAYS	HOURS
1		Deputy Agricultural Commissioner	4.00	1.00	4.00
2		Senior Agricultural Biologist	4.00	1.00	4.00
3		Agricultural Biologist II	8.00	2.00	16.00
4		Agricultural Biologist I	4.00	1.00	4.00
5		Agricultural Technician	4.00	1.00	4.00
6 7		Seasonal Agricultural Biologist III	2.00	1,00	2.00
- 1		Secretary II	2.00	1.00	2.00
8		Accounty Clerk II	4.00	1.00	4.00
9			0.00	0.00	0.00
10			0.00	0.00	0.00
				Subtotal:	40.00
	5. SALARIES - Non-Detection Sta	ff .	HOURLY RATE w/o BENEFITS	HOURS	SALARY
1		Deputy Agricultural Commissioner	\$61.65	4.00	\$247.00
2		Senior Agricultural Biologist	\$41.78	4.00	\$167.00
3		Agricultural Biologist II	\$26.13	16.00	\$418.00
4		Agricultural Biologist I	\$20.13 \$22.60	4.00	\$90.00
5		Agricultural Technician	\$17.61	4.00	\$70.00
6		Seasonal Agricultural Biologist III	\$21.32	2.00	\$43.00
7		Secretary II	\$27.01	2.00	\$54.00
8		Accounty Clerk II	\$16.04	4.00	\$64.00
9		· ·	\$0.00	0.00	\$0.00
10			\$0.00	0.00	\$0.00 \$0.00

6. BENEFITS - Non-Detection Staff				BENEFIT		BENEFIT
4	model Amelanda (1800)			RATE (%)	SALARY	COST
	puty Agricultural Commissione	r		41.5300%	\$247.00	\$103.00
	nior Agricultural Biologist			55.9800%	\$167.00	\$93.00
	ricultural Biologist II			90.1100%	\$418.00	\$377.00
	ricultural Biologist I			74.6300%	\$90.00	\$67.00
	ricultural Technician			26.6000%	\$70.00	\$19.00
	asonal Agricultural Biologist III			8.2400%	\$43.00	\$4.00
	cretary II			76.0700%	\$54.00	\$41.00
	county Clerk II			25.7400%	\$64.00	\$16.00
9				0.0000%	\$0.00	\$0.00
10				0.0000%	\$0.00	\$0.00
					Subtotal:	\$720.00
			٨	ON-DETECTION STA	AFF SUBTOTAL:	\$1,873.00
						OVERHEAD
				SALARIES	BENEFITS	COST
104 Home States (4.5.04 mgs, 25.00 %)	Overhead (Not to exceed 25%))		\$13,691.00	\$6,493.00	\$5,046.00
				TOTAL BED	2011151 2002	455.555.55
B. SUPPLIES (Itemized, such as: trapping p	noles office sumplies etc.)			FOTAL PER	SONNEL COST :	\$25,230.00
Description	colog office supplied, story					COST
1 Office Supplies				1 1	43	\$50.00
2 Trapping Supplies					Ŷ.	\$150.00
						\$0.00
4年的特殊學科學學學科學科學科學			하시다 일하는 일당하	TOTAL	SUPPLY COST:	\$0.00 \$200.00
the state of the s	rle			HOURLY RATE	HOURS	COST
						\$0.00
						\$0.00
3						\$0.00
4. (2) 15. (2)	\$ 5 0 (1)			TOTAL SUBCONT	DACTOR COCT.	\$0.00
				TOTAL SUBCONT	HACTOR COST:	\$0.00
D. VEHICLE OPERATIONS		COUNTY	NO. OF	MILEAGE	COST	
		VEHICLES	USAGE	PER VEHICLE	PER	
			MONTHS	PER MONTH	MILE*	COST
	:	4.00	1.00	300.00	\$0.575	\$690.00
	•				·	•
		STATE	NO. OF	MILEAGE	COST	
		VEHICLES	USAGE	PER VEHICLE	PER	
			MONTHS	PER MONTH	MILE*	COST
		0.00	0.00	0.00	\$0.285	\$0.00
	NO, OF		NO. OF	MILEAGE	COST	
	LEASED	COST PER	USAGE	PER VEHICLE	PER	
	VEHICLES	MONTH	MONTHS	PER MONTH	MILE*	COST
Des	0.00	0.00	0.00	0.00	\$0.285	\$0.00
				VEHICL	E COST TOTAL:	\$690.00
E. OTHER ITEMS OF EXPENSE (e.g., comm	unications. IT services)					********
Description	annual of the solutions,					COST
	nas Paris Para Para Paris Pari	NOT THE WORLD	VOLUME AUSTRAL	5. 84	31	\$0.00
	4.5 4.5 19.4 1.5 1.5 1.5 4.5 1.5 1.5 1.5 1.5 1.5 1.5 1.5 1.5 1.5 1			4.) 14.		\$0.00
2				5		
2 3				A M M		\$0,00
2					<u></u>	\$0.00
2 3				TOTAL	SUPPLY COST:	
2 3				ower rate, that rate ma	be applied.	\$0.00 \$0.00
2 3 4 * Per federal audit guidelines, this rate cannot be			of-living adjustn	ower rate, that rate ma	/ be applied. classification series	\$0.00 \$0.00
2 3 4 * Per federal audit guidelines, this rate cannot be		lifications, cost-o	of-living adjustn	ower rate, that rate ma nents, step increases,	/ be applied. classification series ping Total Cost:	\$0.00 \$0.00 , fringe benefits, et

COMMENTS:
Original contract, 15-0544-SF, term ends 9/30/2016, \$99,498.

\$93,623 in additional funding is requested to extend contract through 12/31/2016.

SAN BENITO COUNTY DEPARTMENT OF AGRICULTURE

12/2/15

FY 2016-17 Asian Citrus Psyllid (ACP) Detection Trapping Financial Plan

Green = fillable cells to be completed by the County.
Purple = subtotals and totals. These contain formulas - DO NOT MODIFY! Orange = instructions.

PERSONNEL

A,	PE	ERSONNEL				
	4	STAFF - Detection Trappers		House	TOTAL	
	٠.	Employee Name	Title	HOURS/	WORK	uouno
1		<u> zmpoyee ivanie</u>	<u>Title</u> Agricultural Technician	DAY	DAYS	HOURS
2		보다 사람들이 없는 그리다 있다는 살이 하지 않다.	Agricultural Technician	8.00 8.00	56.00 56.00	448.00
3			Agricultural Technician	8.00	56.00	448.00
4			Agricultural Biologist I	8.00 8.00	20.00	448.00
5			Agricultural Biologist II	6.00	20.00 17.00	160.00 102.00
6			Senior Agricultural Biologist	4.00	6.00	
7				0.00	0.00	24.00
8				0.00	0.00	0.00
_			ffor a Paris Constituent for the engineering Conservation Conservation (Conservation Conservation)	prodection of the production of the state of	Subtotal:	0.00 1,630.00
	2.	SALARIES - Detection Trappers		HOURLY RATE		
				w/o BENEFITS	HOURS	SALARY
1			Agricultural Technician	\$17.61	448.00	\$7,889.00
2			Agricultural Technician	\$16.77	448.00	\$7,513.00
3			Agricultural Technician	\$16.77	448.00	\$7,513.00
4			Agricultural Biologist I	\$22.60	160.00	\$3,616.00
5			Agricultural Biologist II	\$26.13	102.00	\$2,665.00
6			Senior Agricultural Biologist	\$41.78	24.00	\$1,003.00
7			g	\$0.00	0.00	\$0.00
8				\$0.00	0.00	\$0.00
-				1.1.1 40.00 2011	Subtotal:	\$30,199.00
	3.	BENEFITS - Detection Trappers		BENEFIT		BENEFIT
		.,		RATE (%)	SALARY	COST
1			Agricultural Technician	26.6000%	\$7,889,00	\$2,098.00
2			Agricultural Technician	26.6000%	\$7,513.00	\$1,998.00
3			Agricultural Technician	26.6000%	\$7,513.00	\$1,998.00
4			Agricultural Biologist I	74.6300%	\$3,616.00	\$2,699.00
5			Agricultural Biologist II	90.1100%	\$2,665.00	\$2,401.00
6			Senior Agricultural Biologist	55.9800%	\$1,003.00	\$561.00
7			ovino. Agriconara Diologica	0.0000%	\$0.00	· ·
8				0.0000%	\$0.00	\$0.00
Ū				35.55 0.0000 76 5.555	Subtotal:	\$0.00 \$11,755.00
				DETECTION STA	FF SUBTOTAL:	\$41,954.00
		•			TOTAL	
4	4.	STAFF - Non-Detection		HOURS/	WORK	
		<u>Employee Name</u>	<u>Title</u>	DAY	DAYS	HOURS
1 }	7 6.		Deputy Agricultural Commissioner	2.00	6.00	12.00
2			Senior Agricultural Biologist	4.00	6.00	24.00
3			Agricultural Biologist II	8.00	12.00	96.00
4			Agricultural Biologist I	4.00	6.00	24.00
5			Agricultural Technician	4.00	6.00	24.00
6			Seasonal Agricultural Biologist III	2.00	6.00	12.00
7			Secretary II	2.00	6.00	12.00
8			Accounty Clerk II	4.00	6.00	24.00
9				0.00	0.00	0.00
10				0.00	0.00	0.00
					Subtotal:	228.00
Ę	5. 9	SALARIES - Non-Detection Staff		HOURLY RATE		
				w/o BENEFITS	HOURS	SALARY
1			Deputy Agricultural Commissioner	\$61.65	12.00	\$740.00
2			Senior Agricultural Biologist	\$41.78	24.00	\$1,003.00
3			Agricultural Biologist II	\$26.13	96.00	\$2,508.00
4			Agricultural Biologist I	\$22.60	24.00	\$542.00
5			Agricultural Technician	\$17.61	24.00	\$423.00
6			Seasonal Agricultural Biologist III	\$21,32	12.00	\$256.00
7			Secretary II	A CH 2/4 (ACCOUNT OF ON SECURITION OF A CHARLES OF A CHAR		
8			Accounty Clerk II	\$27.01	12.00	\$324.00
9			Accounty Clerk II	\$16.04	24.00	\$385.00
				\$0.00	0.00	\$0.00
10				\$0.00	0.00	\$0.00
					Subtotal:	\$6,181.00

	6. BENEFITS - Non-Detection Staff				BENEFIT RATE (%)	SALARY	BENEFIT COST
1		Deputy Agricultural Commissione	r		41.5300%	\$740.00	\$307.00
2		Senior Agricultural Biologist			55.9800%	\$1,003.00	\$561.00
3		Agricultural Biologist II			90.1100%	\$2,508.00	\$2,260.00
4		Agricultural Biologist I			74.6300%	\$542.00	\$404.00
5		Agricultural Technician			26.6000%	\$423.00	\$113.00
6		Seasonal Agricultural Biologist III			8.2400%	\$256.00	\$21.00
7		Secretary II			76.0700%	\$324.00	\$246.00
8		Accounty Clerk II			25.7400%	\$385.00	\$99.00
3.0					0.0000%	\$0.00	\$0.00
10	1				0.0000%	\$0.00	\$0.00
						Subtotal:	\$4,011.00
					NON-DETECTION ST.	AFF SUBTOTAL:	\$10,192.00
							OVERHEAD
					SALARIES	BENEFITS	COST
	46 Valamen (45 m 1857) 48 (1 25.0 0) % Overhead (Not to exceed 25%)	l		\$36,380.00	\$15,766.00	\$13,037.00
					TOTAL PER	SONNEL COST:	\$65,183.00
1	化类型 医眼球性 医电影 医性骨髓 医阿里斯氏病 化二氯甲基酚 化二氯甲基酚 经收益 医二氏性小体 化二氯甲基	ng poles, office supplies, etc.)				80 20 20 20 20 20	COST \$50.00 \$200.00 \$0.00 \$0.00
_						SUPPLY COST:	\$250.00
С.	SUBCONTRACTOR	TITLE			HOURLY RATE	HOURS	COST
1							\$0.00
2							\$0.00
3							\$0.00
•	te matin matik kuli tulu antah di asimet atawa teksisi.	Pala Para Para Pala di Kababata Bilanda ya Kababata Kababata Kababata Kababata Kababata Kababata Kababata Kaba Kababata Kababata Ka			TOTAL SUBCONT	RACTOR COST:	\$0.00 \$0.00
D.	VEHICLE OPERATIONS		COUNTY VEHICLES	NO. OF USAGE MONTHS	MILEAGE PER VEHICLE PER MONTH	COST PER MILE*	соѕт
		• · · · · · · · · · · · · · · · · · · ·	3.00	6.00	200.00	\$0.575	\$2,070.00
					** * * * * ** * * * * * * * * * * * *	,	4-,
			STATE	NO. OF	MILEAGE	COST	
			VEHICLES	USAGE	PER VEHICLE	PER	
		_		MONTHS	PER MONTH	MILE*	COST
			0.00	0.00	0.00	\$0.285	\$0.00
						a c	
		NO. OF	COCT BED	NO. OF	MILEAGE	COST	
			COST PER	USAGE	PER VEHICLE	PER	000
		VEHICLES	MONTH	MONTHS	PER MONTH	MILE*	COST
			0.00	0.00	0.00	\$0.285	\$0.00
					VEHICL	E COST TOTAL:	\$2,070.00
E.	OTHER ITEMS OF EXPENSE (e.g., co	mmunications, IT services)					
	Description	ethat ethere englis plant para ethate en ethate ethat ethat (1977).	an ang ay kaya Anna da na n	yeAr s trouber the secretary	Va.	5.40	COST
4	A finish and the State of the Section of Alexandra and Alexandra and Alexandra Anneal Alexandra and Alexandra a						\$0.00
1			机铸铁 化自动放射 化二氯甲基甲基甲基甲基甲基甲基甲基甲基甲基甲基甲基甲基甲基甲基甲基甲基甲基甲基甲基			V.	\$0.00
1 2 3							
3					13. Ağ	643 643	\$0.00
					TOTAL	SUPPLY COST:	\$0 .00
3 4 • Pe	r federal audit guidelines, this rate canno	ot be exceeded. However, if your c	ounty's internal	policy uses a l	ower rate, that rate may	SUPPLY COST:	\$0.00 \$0.00
3 4 • Pe		ot be exceeded. However, if your coges in labor contracts progam mod	ounty's internal ifications, cost-c	policy uses a l of-living adjustr	ower rate, that rate may	be applied.	\$0.00 \$0.00
3 4 * Pe * Sa	r federal audit guidelines, this rate canno lary rates subject to change due to chan	ot be exceeded. However, if your coges in labor contracts progam modi	ounty's internal ifications, cost-c	f-living adjustr	ower rate, that rate may	/ be applied. classification series	\$0.00 \$0.00
3 4 Pe Sa	r federal audit guidelines, this rate canno lary rates subject to change due to chan	ges in labor contracts progam modi	ounty's internal ifications, cost-c	f-living adjustr	ower rate, that rate may ments, step increases,	/ be applied. classification series	\$0.00 \$0.00 , fringe benefits, et
3 4 Pe Sa	r federal audit guidelines, this rate canno lary rates subject to change due to chan	ges in labor contracts progam modi	ounty's internal ifications, cost-c	f-living adjustr	ower rate, that rate may ments, step increases,	/ be applied. classification series	\$0.00 \$0.00 , fringe benefits, et

\$93,623 in additional funding is requested to extend contract through 12/31/2016.